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QUESTION 1

Refer to the exhibit. 

An administrator is trying to identify an issue using an expression bated on the Expression Builder settings shown in the
exhibit however, the error message shown in the exhibit indicates that the expression is invalid. 

Which is the correct expression? 

A. Matched Events COUNT() 

B. Matched Events(COUNT) 

C. COUNT(Matched Events) 

D. (COUNT) Matched Events 

Correct Answer: C 

 

QUESTION 2

Refer to the exhibit. 
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Three events are collected over a 10-minutc time period from two servers Server A and Server B. Based on the settings
being used for the rule subpattern. how many incidents will the servers generate? 

A. Server A will not generate any incidents and Server B will not generate any incidents 

B. Server A will generate one incident and Server B wifl generate one incident 

C. Server A will generate one incident and Server B will not generate any incidents 

D. Server B will generate one incident and Server A will not generate any incidents 

Correct Answer: A 

 

QUESTION 3

In the rules engine, which condition instructs FortiSIEM to summarize and count the matching evaluated data? 

A. Time Window 

B. Aggregation 

C. Group By 

D. Filters 

Correct Answer: C 

 

QUESTION 4

What operating system is FortiSIEM based on? 
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A. Cent OS 

B. Microsoft Windows 

C. RedHat 

D. Ubuntu 

Correct Answer: A 

 

QUESTION 5

Which two export methods are available for FortiSIEM analytics results? (Choose two.) 

A. CSV 

B. PNG 

C. HTML 

D. PDF 

Correct Answer: AD 
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